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MENSURATION -2D T SEFTEMBER
MENSURATION -3D 8 SEFTEMBER

POWER AND INDIC'{S S SEFPFTEMBER
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MATHCMATICS By Pradeep Sir

Q. 1) A can complete a piece of work alone in 200 days,
while B can complete the same piece of work alone in

100 days. In every three-day cycle, both A and B work on

day 1, only A works on day 2, and only B works on day 3.
This cycle continues till the work is completed. How
many days in all does it take the duo to complete the
work?
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Q. 2) A can do a work in 20 days and B in 30 days. If they

S il
work on it together for 2 days, then what is the fraction
of the work that is left?
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‘EW L’z
/ Q. 3) A and B can do a work in 13 days and 26 days,

respectively. If they work for a day alternately, starting

with A, then in how many days will the work be
53 v~  completed?
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Q. 4) Arvind works 4 times as fast as Suresh. If Suresh can

A S complete a work in 20 days independently, then find the
number of days in which Arvind and Suresh can together
S i / finish the work.
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Q. 5) If 24 people can build 90 identical walls in 25 days,
My >3 )ui‘ = MLXTLx M2 then how many more days will 27 people require to build

W | = W2 = 162 such walls
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Q. 6) 18 workers can complete a piece of work in 96 days.
They start working together and after 26 days 10 more
workers join them. In how many days in all will the work
be completed? -
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- Q. 7) Mitu can do a piece of work in 12 hours, Titu and
'\ > Msty = 12 h+s Situ together in 2 hours, and Mitu and Situ together in 3
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Q. 8) A and B together can complete a piece of work in
25 days, B and C together can complete the same piece
of work in 36 days, while C and A together can complete
in 30 days. If A, B, C, and D together can complete this
viece of work in 18 days, then in how many days can D

alone complete this piece of work?
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Q. 9) Ravi and Sanju together can do a job in 2
days, Sanju and Mahesh can do it in 4 days, while
Ravi and Mahesh can do it in2 days. What is the
number of days required for Raﬂato do the same

jobalone?
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Q. 10) Mamsh Nakul and Pintoo alone can complete a
certain work in 21d§§s 28 days and 15 days, respectively.
Manish and Pintoo started the work together while
Nakul joined them after 5 days and worked with them till
the completion of the work. For how b days did
Nakul work? ﬁz - i .
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YA
/t‘xn/ Q. 17) Ronak and Riya can do a work in 12 and 18 days,

respectively. They worked together for six days and then
Ronak left. Find the time taken by Riya to complete the
worki—
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Q. 12) Tarun is twice as good as Tripti in doing a
work. Together, they can complete the work in

Lavruny T et 16 days. In how many days can Tripti alone
s e e g%wgfq%azgmm— 2
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Q. 13) P can do a piece of work in 30 days and Q in 40
days. They work together for 4 days and then Q leaves.
The number of days taken by P to finish the remaining
work is:

pusdM B30 fAH MR Qa0 A sy awar g1 3

Ygavﬁawmm?ah?fb“\'qmémilm

HTH B R B | p I e e e

$SC CPO 28/06/2024 (Shift-03)
(a) 23 days/fea —
(b) 28 days
(c) 30 days
(d) 7 days




MATHLMATICS

By Pradeep Sir

,\

AM*{_D\ - G\M+s‘ e

>
- ___)g-”ﬁké "25'9
|

}
26

R e

Q. 14) Amita can build a room in the same amount of
time that Bina and Sita working toget_hg_r,can build. If

Amita and Bina together could do it in 25 days and Sita
alone in 35 days, then how many aays are required for

Bina alone to do the same work?
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Q. 15) Sapna is double efficient as compared to Rakesh.
If they both work together on a project and complete it
in 48 days, then the number of days in which Sapna
;:%;‘:I c:éa compleﬁte the prat}arj;je:cﬁ Is: B il & il
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Q. 16) A hostel had food provision for 300 students for a
month. After 20 days, 50 students left the hostel. How

l;;; would the remaining food last? (1 month = 30 days)
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Ry
(\ 8 / Q. 17) Sumit and Rajiv, working together, can do a |ob in

20 hours whereas Sumit alone can do the same job in 25

® hours. In how many hours can Rajiv alone do the job?
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18
W% Q. 18) A and B can complete work in 9 days, while B and
C can complete the same work in 18 days. When working

together A, B and C, can finish the same work in 8 days.
How many days will it take for A and C to complete the

- : work together?
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- 39 Q. 19) If 8 men or 16 women or 32 boys can do a piece of
. work in 8 months, then in how many months can 4 men,
L women and 4 boys together complete the work?
) : gfe 8 Y3 4T 16 q1 32 98P UP $14 &I 8 Hel4 |
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Q. 20) 3_men can finish a work in 10 days, 4 women can
finish it in 12 days and 10 qualiﬁed workers can finish it

in 6 days. In how many days is the work finished by 4
men, 4 women and 4 qualified workers, working

together everyd ﬁq’fﬁ . Eﬁ
1 L3 4 12
ﬁﬂmm% mu’mm:ﬁs
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MixPlxH - m2 KP2¥xHo Q. .21) Agroup of 25 tourists consume 5 containers
- . & - w s of food in 8 days in a_hotel. How many containers

ik - g will be required for 10 tourists to eat for 16 days?
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Vﬁ Q. 22) The one-day work of 2 men is equal to the one-
— day work of 4 women or the one-day work of 8 qualified

workers. 10 qualified workers can finish a work in 8 days.
If a man, a woman and a qualified worker work in the

same order on three different days, the work is finished
in days.
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Q. 23) 36 persons can do a work in 10 days,
working 6 hours a day. In how many days will
24 persons, working 9 hours a day complete

the work?
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Q. 24) A work can be finished by 8 men in 10 days

L
_ % working 6 hours a day or same can be finished by
}9& ” /‘/g x1p 2= q9¢Exﬁ /‘ 20 qualified workers in 6 days working 8 hours a

M P day. 2 men and 4 qualified workers work
— S simultaneously 10_hours a day, the work will be

£ ) o finished in days.
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Q. 25) A can do a piece of work in 25 days. After worlang

Q2
for 5 days, he took help of B and completed the work in
[w= A% XS5 So 8 days. If both A and B had worked together from the
— beginning, in how many days would they have

completed the work? —

Awm&ﬁzsﬁﬁwwm%sﬁ?wm
Ax g 18R tﬁ. 2 3 aﬂﬁ%mg
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Q. 26) A completes a piece of work in 4 days and B
completes it in 6 days. How long will it take to complete

2> Al 4> the same piece of work if they both work i%gether‘?

A TP BT6 B) 4 R F Q31 BT § 3R B TR 6 2 &
mamﬁaaﬁaﬁmmﬁ,mwwﬁﬁg

g > B -ec,;p P33 & fba1 awy

(a) 2 -:1 days

(b) 3 days

(c) 2 % days
[2 (d) 4 days

SSC Phase Xll 26/06/2024 (Shift-02)




MATHLMATICS

By Pradeep Sir

7 - 4 e
T4 X-1ot+ xX-20 +x-30+x Ho
'
+=¢~>o+x-c,o_

e

U2

_).1 - KL)D = U=

Sz = )0

X = Jo

————
’

e

Q. 27) A group of men decided to complete a job in 4
days. However, since_ 10 men dropped out every day, the
job got completed at the end of the 7th day. How many

men were there in the nnmg?
B BT Baar
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Q. 28) A and B can do a work in 15 days and 30 days,
b respectively. They start working together, but A leaves
after 3 days How much time will B take to complete the

remaining work?
_ Aah'zswmﬁmwfaaah'\'soﬁnﬁmm
‘,’:_, @ > 302 HE:| mmmgm 3%?!13
3 ‘:ﬁ;%m%lmm W $I | B FY
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"“’ =" . &&= Q. 29) Eight labourers working 10 hours a day completed
IXP)x\) : MaLxXP2LRH 2 a work in_18 days. If only 5 labourers are working, then

W ) w 2 in how many hours a day should they work to finish the
work in 24 days?
TSPV 4 | S huha ey
= 87 1 l - T4 24
BuiFree 2 A 35" LN ALhh g b i L

Hz = 14 how— SSC Phase XII 20/06/2024 (Shift-03)
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V”%,M:Q. 310) Aman and Rajan are_working at a construction

site. In some engineering experiment, Aman is
constructing a wall, while Rajan is demolishing that wall.

-3 (AR » LoD I c An:nan can completely build fhe wall in IS.days, while
Mmecgo Rajan will take 20 days to completely demolish the wall.
In how many days_will the complete wall be built for the

first time if they work on alternate days, with Aman
working on the lstd¥

?
d? —— | 3 mn?a R W S B I gl (!
xX56 @ EON=IaieT WA #, 3+ TP §1aR &1 381 8

e
Y- 4 - s >

NER

2. 39 SR B! fRT 7T 21 W 15 2T F it v @
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N

(d) 120




MATHCMATICS By Pradeep Sir

A B C
v N\
3D XY SDu 2 %X
I + 39 + Jx
C= 12, 9¢
ol > — P

Q. 31) A, B and C can do the same work in 9 days, 12
days and 18 days, respectively. A started the work and
worked for 3 days and left. Then, B joined the work and
worked for 3 days and left. Then, C joined the work and
completed the work. Find the numbemays C took to

compl ethe work. o B okt
$HI: 9 % 18

ﬁqﬁmm?m%mmm 3fetaw
g v 9« mar fy, nrrtfﬁmfhaﬁﬂmahnﬁﬂ’f
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t=2A+d 2102
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Q. 32) A and B can do a piece of work in 10 days. B and C
can do the same work in 12 days. C and A can do the

same work in 15 days. If all the three work to- gether,
find the number of days ﬁnred to complete the work.

Aah?awmaﬁw H ®Y 9Pd ¢! B 3 ¢ I

- R;ﬂﬁmmtlcmAtnﬂmzfﬁwﬁif
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MIXPIXH| . M2x PaxHz_ Q. 33) 30 persons working 10 hours a day can do 5 units

oy Lo 2 of work in 12 days. How many people are required to do
— 8 units of that work in 16 days if they work for 8 hours a
‘3 5 1 30 218 YRR 10 92 wrf o 5 yoré ol w1 1T R
W:  zete i A i;nwmtluﬁ& # § U &M Hd 8, af 39
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~ Q. 34) If 12 students can read 4800 pages of a book in 15
M>2IXH) - W_L_%:)D-_XH% days, then how many students can read 7200 pages of

W | W 2 the same book in 10 days?
gfe 12 faemdf GF$4sooqu1sﬁ={ﬂuamt
G at fpaa U@ & 7200 U 10 &7 # ug wad
—4F* 1S . X¥ o e
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Q. 1) Two pipes can fill a tank separately in 36 minutes
and 45 minutes respectively. A drain pipe installed in the
tank can remove 40 liters of water per minute. If all three
pipes are opened together, the tank is filled in one hour.
Find the capacity/holding (in litres) of the tank.
a’rmwz’aﬂaﬁa%@-maﬁ?wm: 36 e ok
45 e § WX 93d 71 ¢t 7 @ U e urgy uid
firee 40 sfiex urit Freer w@ar 21 afe @41 uigy o Wy
@i fa¥ wmg, ot ¢ U ue # WR W g1 dHt B
&I/ TRET (Sftex H) Jrd S|

SSC CHSL MAINS 10/01/2024 (Shift-01)

(a) 600
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c) 300
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Q. 2) Pipes A and B can fill a tank in 18 hours and 27
hours, respectively, whereas pipe C can empty the full
tank in 54 hours. All three pipes are opened together,
but pipe C is closed after 12 hours. In how much time (in
minutes) will the one-third of the remaining part of the

tank be filled by A and B together? :
A 3X B UP T@! P! HHI: 18 U 3MX 27 4e # W

qigy

HPd 8, did UIsy C GII Th! B 54 ¢ | @Il B ADdl
. Uy U 91y wid g, dfeT ursu c #9112 We
d1c §¢ &Y 391 W1dT 21 UTSU A 34X B e ¢l & A9
YT & U fagrs e &1 foaa ana o (e #) e s
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Q. 3) Two pipes can fill a cistern in 72 and 90 minutes
respectively. If both the pipes'are left open how long will
it take for the cistern to be half full? —

2l UTSY US @l B HAN: 72 94T 90 fFe # W’ woa 2
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(a) 40 minutes
(b) 24 minutes
(c) 48 minutes
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— Q. 4) A pipe can fill a tank in 32 minutes.
5 Due to the leakage the tank is filled in 48 minutes.
D -? A - 32 How long will it take to empty the tank due to leakage?
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—A4) 1 hour 36 minute
(b) 1 hour 42 minute ~Q

—_ b J (c) 1 hour 20 minute¢
| i W’\? (d) 1 hour 56 minute Q
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Q. 5) An inlet pipe can fill a tank in 10 hours and an
outlet pipe can empty the completely filled tank in 20
hours. Both the pipes are opened at 6.30 a.m. When will
the tank get filled?
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(a) 1 a.m next day
(b) 2 a.m next day
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(d) 2:30 a.m next day
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Q. 6) Pipes A and B can fill an empty cistern in 12 hours
and 16 hours respectively. Both the pipes are opened
simultaneously and after 3 hours pipe B is closed. How
much time (in hours) will pipe A take to fill the

remaining part of the tank?
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(a) 9
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Q. 7) There are two pumps to fill a tank with water. First
pump can fill the empty tank in 8 hours while the second

— in 10 h If both the pu ed at th
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—~, Q. 8) One-fourth of a tank can be filled in 3 hours by pipe
L =3 o o? A and one-third of the same tank can be filled in 2 hours
Y by pipe B. How long will it take for the tank to be filled if
—\ both the pipes are kept open?
ey I R e TS ¢! BT U dIUTE W UTSY A GRT 3 YU § Rl § aul
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Q. 9) If 3/5th of a cistern is filled in 1 minute, the time

P ;Eededt_ofilltherestis a % o
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Q. 10) Pipe P can fill the 25% of a tank in 10 days; Pipe Q
can fill the 40% of the tank in 8 days. If they worked
together they can fill half of the tank in ............. '

PUD ¢ BT 25% B! 10 RAI § WY GHaT 8, TISUQ 8
gﬁéﬁﬁw%mm%mﬁ%ﬁfﬁamhaﬁ

Y T &P BT TUT UNT WA | fhaar aug |1
(a) 10
b) 40/3
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tw = Lo Q. 11) Efficiencies of two Pi in the ratio 2: 3. If th
. iciencies o ipes are in the ratio 2: 3. e
A , B S = first takes 30 days to dopa piece of work, the time
£ .3",_/» required, when both of them work together on a Job
tgﬁgmﬁm%w%ﬁ%mﬁmaﬁﬁ
: 23 L
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Q. 12) A tap can fill a tank in 3 hours and a leakage can
empty the tank in 5 hours. If tap and leakage (which is
closed for half an hour) has opened then what will be
time taken to fill the tank? P

U 9 3 UU2 A UD 2P WY GHaT & 3R U RETg 5 qoe
¢ @Il BY_APal gl m@mgm_ﬁﬁ
foe |4 8) Fge WdT 8, ¢® &I W33 H

Bl HHT &7 i
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MATHCMATICS By Pradeep Sir

| AIB la)vs ’ ’5
~~ " Q. 13) Pipes A and B can fill a tank in 18 hours and 27

— - .? SR 3X-- hours respectively. If both the pipes are opened
G A - 8'1«0 sequentially one after the other and only one pipe is
opened at a time for the first hour pipe A is opened, then
o how many hours will it take to fill the tank completel ?
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Q. 14) If two pipes A and B working together can fill a
tank in 'x' days and if Pipe A working alone takes '16’

days more than Pipe A and B working together and Pipe

l L *G B working alone takes '9' days more than Pipe A and B

:f%rking together than x%ﬁ;—\tﬂ A xR -
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I Iy g mAuﬁE?wAamB%mmﬁggﬁ?
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Q. 15) There is a leak in a tank which empties it in 6
hours. A tap is turned on which fills the tank with 10

liters of w r minute. When it is full, it now takes 10

BT e pours o emply. What Is the capacity (in litres) of the
— 1 0h~ felt et & v frara 2 forwt g 6 U2 & w@reft 81 ot 21
@A’*%\ TP 9 $1_arq far srar 8 ot e@t | ufa e 10 ey

-0 HRALUUTRARA SRl AL + Rl

(a) 8000 ~
40
50 L 1oneE (d) 10000
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Q. 16) Pipes A, B and C can fill a tank is 15, 30 and 40
% > A ) s hours respectively. Pipes A, B and C are opened at 6 a.m,
- 8 a.m and 10 a.m respectively on the same day. When

will the tank be full?

— U A, B 3R C T& ¢& &I HAN: 15, 30 3R 40
Lb> &9 30 m%umm;gfcm 6 241, 8 a.m
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Q. 17) Pipes A and B can empty a full tank in 16 hours

“ and 24 hours respectively. Pipe C alone can fill the empty
9 A - 16 hws tank in 4 hours. If A, B and C are opened together, the
tank will be 35% full after:

P - URY A 3R B U W §Y P P HHY: 16 He 3R 24 4
frate <wie Eﬂmm%’.ﬂﬁ?cmm%ﬁ4ﬁ%ﬁw
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Q. 18) Pipes A and B can empty a full tank in 36 and 45
minutes respectively, whereas pipe C alone can fill the
tank in 15 minutes. B and C are opened together for 15
minutes, and then both are turned off and A is opened,
Pipe A will empty the tank in (in minutes):

UTIET A 31X B US UUf ¢ DI HHY: 36 3T 45 fiyae & @reft
Y 9Dd &, Ul C APA cd ! 15 e & W’

Lcm<18 AT C B e s .
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(c) 30
(d) 18
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Q. 19) Three pipes A, B and C can fill a tank in 15, 24 and
36 minutes respectively while pipe D can empty the full

tank in 1 hour. If all four pipes are kept open together
then how much time will be taken to fill the tank?

a= A, B 3T C PHI: 15, 24 3R 36 f=el & &t &t

mqﬁwﬁ?ﬁaﬁmo amuv%ﬁm?haggﬁr
| IR UTSul |y @1 STl 39
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(a) 9% hours)Q
(b) 5— hours X

16
(c) 8 v hours

(d) 7; hours)q
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Q. 20) Pipes A and B can empty a full tank in 15 minutes
and 20 minutes respectively, while pipe C alone can fill
an empty tank in 8 minutes. If pipes A, B and C are
opened simultaneously, in how many hours will the tank

be filled?

u%uAahvauﬁgééﬁaﬁm: 15 firre 3 20 e
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Q. 21) Pipes A and B can fill a tank in 16 hours and 24
}| 5 - A. - | & % hours, respectively, whereas pipe C can empty the full
tank in 40 hours. All three pipes are opened together,
but pipe A is closed after 10 hours. After how many

- B 5 .?(, | hours will the remaining part of the tank be filled?
mAahnﬁnﬂz'aﬂagmnsaﬁnm%ﬂmm
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Q. 22) Two pipes A and B can empty a filled tank in 10
minutes and 15 minutes respectively, while pipe C alone
can fill the same (empty) tank in 12 minutes. When the
tank is full, then A and B is opened for 4 minutes and
then only pipe A is closed and C is opened immediately
(with B). Now how much time (in minutes) will it take to
fill the tank complet

mswém?ﬁﬁm 10 firFe iR 15
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Q. 23) A cistern can be filled by two pipes A and B filling
separately in 12 and 16 min respectively. Both pipes are
opened together for a certain time but being clogged
only 7/8 of the full quantity of water floes through the
pipe A and only 5/6 through the pipe B. The obstructions
however being suddenly removed, the cistern is filled in
3 min from that moment. How long was it before the full

flowb ?
éﬂmega?’fna’thaﬁnmnzawﬁ%ﬁwm%
urgy U@ i vwe & R @i e @) dfes o
qTUT & BT A YT &HAT BT 7/8 U T B YA &HAT B
5/6 HIT YR UTAT 8| LGS aT1YT 8¢l ¢4 & SR UISY 3
fie & W STaT 21 (39 &1 | gl) @ 9aisU blockage
- o .[
 (a) 4.5 min
J2) 4 Min
(c) 7.5 min

(d) 4??;- min
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Q. 24) Pipes A, B and C can fill a tank in 10, 15 and 18
hours respectively. A and C are opened for 5 hours, after
that only pipe A is closed and at the same time pipe B is
opened (along with C). What is the total time taken to fill

. B - IS the tank completely?
6 =~ UIET A, B 3T C TP ¢h B! PHI: 10, 15 3T 18 e & WX

) CoA = HAPd 21 A 3R C B 5 ¥¢ & fore @Eir &rar 8, IS 91
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Q. 25) Two pipes A and B can fill a tank in 30 minutes
and 40 minutes respectively, while the third pipe C can
take out 36 liters of water per minute. If all the pipes are
opened simultaneously, the tank is filled in one hour.

\_)5—’ Find the capacity (in litres) of the tank.
\((‘“ a’lmAﬁvsmaomaﬁuoﬁ:ﬁﬁw%w
qPd g, waiP drav urgy ¢ uid fiFe 36 dfiey ot Fera
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